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How to find the coordinates of a point where 2 lines meet. aT v
a. Make both equations look like: ‘y = ax + b’
b. Make both equations equal to each other Jin v
c. Solve for‘x

d. Plug the value of ‘x’ back into one of the two equations and solve for ‘y’
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2) What are the coordinates of the point where the following two lines meet?

Equation1l: 2y=-1x+8 Equation 2: 4y= 6x-16
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- 3) What are the coordinates of the point where the following two lines meet?

Equation1: 3y=6x-9 Equation 2: 4y=-4x+24
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4) What are the coordinates of the point where the following two lines meet?

Equation1: 6y-9x+42=0 Equation2: 5y+10x-35=0
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